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We need values for x, v, and r. Because P = (-2, -5)
is a point on the terminal side of
8, x==2 and v =-5. Furthermore,

r=yx + 37 =(=2)* +(=5)° = /4+25 = /29 Now

that we know x, v, and », we can find the six
trigonometric functions of €.
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27. Because 270° < 8 <360° @ is in quadrant IV. In

quadrant ['V x is positive and y is negative. Thus,
=£ Lx=8,
r
r=17. Furthermore
X +yi=rt
8 +y? =17
7 =289-64=225

v=-225=-15
Now that we know x, v, and r, we can find the
remaining trigonometric functions of &.
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In quadrant 111 x is negative and v is negative. Thus,
3 x -3

cosf=——==—=—, x=-3, r=5. Furthermore,
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Now that we know x, v, and r, we can find the
remaining trigonometric functions of &.
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Because the tangent is negative and the sine is
positive, & lies in quadrant II. In quadrant II, x is
negative and v is positive. Thus,
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tanf=——=—=—,
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reJ 4y =37 +27 =0 +4 =413

Now that we know x, y, and r, we can find the
remaining trigonometric functions of 8.
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x=-3, y=2. Furthermore,
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sing = g when the reference

in quadrants [ or II.
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100. cosG:% when the reference angle is g and & isin
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quadrants I or IV.
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sin@ = 5 when the reference angle is 7 and

@ is in quadrants II1 or I'V.
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102. cos;(i?:—E when the reference angle is 3 and @ is 104. tanﬁ:—? when the reference angle is % and
in quadrants IT or IIL. 8 is in quadrants IT or IV.
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103. tan @ =—/3 when the reference angle is 3 and 8 is

in quadrants II or [V.
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